
Short Answers – Practice Problems for Test 2 - MTH 141 Fall 2003

PART 1
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PART 2:

1. 18

2. −11

3. 77

4. 2
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11. (a.) 12 + 2 = (1)(3)

(b.) dy
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= −1, so the tangent line is y = −x+ 4.

(c.) We want (x, y) so that dy
dx

= 0. Thus y = 0, and after plugging into the equation of
the curve we get that there are no such points.
(d.) We want (x, y) so that the denominator in dy

dx
is zero, thus 2y−x = 0, that is, x = 2y.

Upon substitution into the eqution of the curve we get y = ±
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12. (a.) x = −2 + 3 cos t, y = 5 + 3 sin t, 0 ≤ t ≤ 2π.
(b.) x = −8 + 13t, y = 3− t, 0 ≤ t ≤ 1.
(c.) x = t, y = t3 + t, −2 ≤ t ≤ 1.
(d.) x = −2 + 2t, y = −4t, −∞ < t <∞.
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√
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√

5

(b.) Down, since y′(2) = −4 is negative.
(c.) −4/3

(d.) Yes, since
√

(t− 1)6 + 4(t− 1)4 = 0 ⇒ t = 1

14. (a.) 3/4
(b.) 3/2

15. f(t) ≈ e+−2e(t− 0) ≈ 2.71828− 5.43656 t

16. g(t) ≈ 0 + 0(t− 0) = 0

17. h(x) = 1
2

+ 0(x− π
4
) = 1
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18. 4 + 5x

19. 0.00214

20. -0.0000211

21. Type: “0/0”. Ans: 4/3.

22. Does not exist. (Note numerator →∞ and denominator → 0).

23. Type: “∞/∞”. Ans: 1/3.

24. 0, by direct substitution of x = 0.

25. ∞, or, does not exist.

26. Type: “0/0”. Ans: −1/2.

27. 0, by direct substitution.

28. 0 (note that the numerator approaches π/2 as t→∞).

29. Type: “∞/∞”. Ans: 0.

30. x0.2

31. x

32. e0.0001x
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34. (a.) dy
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K
= −g

K
(1− e−Kt) ⇒ 0 = e−Kt, which has no solutions. Hence the answer is NO.


